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1 VISEE: S R1.5.10 | HINEHEEAE A T 2,100,000 1,400,000 [(BRAATHE 5 FEA0 i AL
2 [EBLSKVEN R R1.5.10 |[BEZ AHUPIT N AR AMERE T3 2,273,000 1,600,000 [ #fi V8 T A 5 | ¥EAEA AL
3 TS ik RI1.5.10 (/B W15 55 34 R B AT S0 e A B Y s 57 3,475,000 1,930,000|BRZ AT R% =8 5 FaA0 i AL
4 T R R1.5.10 [BEART /)N - R iehe 2R 455 112,716,000 112,212,000 | (R SR £ i 4 FaA0 i AL
5 |EH SV HRR] R1.5.30 [l i Hmi Gl A 50U 0 H0)  4 FEAI S 7 2 7 2,930,000 2,780,000( 3 H AR AFHEIRR BIRIE[ 5 FEA0 i AL
6 VISTEE R1.6.26 [/ th PN i A5 S8 Lo 2,330,000 2,200,000 | ()75 F &3¢ i L2 3 | FRAEF AL
7 VISEE S R1.6.26 |JW/KFHAER LR 2,900,000 1,180,000\ 70~ T¥M HEHETF| 6 FEA0 i AL
8 W] ECRR R1.6.26 |fEEREAGIERY N —2s AT LIRSS T 7,411,000 6,744,000|(RJECC 2 FRA0 i AL
9 |EHLOKVEMB R1.7.10 |FTE3— 110275 FrEHE T T 5 2,071,000 1,430,000 [ (FH AATHHE 5 FRA Tt AL
10 | PEFEBDCHR R1.7.10 |ART = hr—F— S5 G R E 6,696,000 6,696,000(FRJECC 2 | FEABA AL
11 TSR R1.7.30  [BEAENT 22 L b5 54T B A SRt e A o 299,608,000 290,382,000| =M MERREN Ak B SOE 2 —ﬂ%‘gﬂ;\ﬂ
12 R RIT.30 [BEAEMTST/ e ek s B PC X i 8,748,000 8,352,000 %Eggg&w Ja—va E2S TN
13 FHR R1.7.30 |BUAMTSL/NVERPCHAEPCHEEHE 19,140,000 18,324,000|(JECC 2 fad wt e AL
14 RS i R1.8.26 [BEA=THBHTEE 30 G T &L 1.5+ A 7 FRA WA AAL
15 [EHOKEM R R1.8.26 |[SFOCEEEKAIRE EXE LG 2,822,000 2,650,000| P4 2 S FR IR 6 faawt e AL
16 KIER R1.9.17 | R DS A IR T & 6,220,000 4,630,000 | FR7AE F £k 5 | fRAamA AL
17 |E63<0EAE| R1.9.17 | FEFN S48 A H PN E /K R g 15 1,862,000 1,400,000 (FRAASHE 4 fasmte AL
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18 |EHOVEAHIR| R1.9.17  |BUERTE FBy 2 B0 K E o8 LF 9,257,000 9,200,000|(H) & MR i 12 5 FEA0 i AL
19 |FEH3<KVENHER R1.9.17  |BUAEN G SRHAE EBZT 6,139,000 5,900,000 (4 Fn=o L2 M 4 | FRABIA AL
20 | EMEGE | RLOAT MR ATIA—RT=T ST 28,130,000] 26,940,000 %Eg;g&w Javar S E 2 E YN
21 T R R1.9.17  [BUA/INFPRIMA L KRB YOS G H R Z Rt 5,246,000 4,300,000 | (R 55 — LR FHFHS T 5 FaA0 i AL
22 VISEE S R1.10.16 | -BFHIPN A0S B8 L 24,230,000 21,500,000 ()& H R fif T3 7 feami e AL
23 VISEE S R1.10.16 [HEAARHIPN A g B8 L5 15,520,000 15,500,000 | )RR T2 6 feami e AL
24 I R1.10.16 |[4TE SAPHLEE A 15,445,000 13,155,514 ﬁg;ﬁﬁiﬁ@w 2 feami e AL
25 |EH 3R R1.10.16 | KimHEHE L m EmME T N 1 fad it AL
26 |EHIEER| RI1.10.16 [#/ERBEERR AR T2 N 2 | FEABA AL
27 |EB30EEFR| RI1.11.7 [BUEBEERR &R T N 2 | FEABA AL
28 |EHL DRI R1.11.27 |[/MZHIN IR\ B IR LR R L 1,854,000 1,400,000 [ (FH AATHE 1 faawte AL
29 |EHEEFR| RI1.11.27 [BUERBEERR &R T 4,600,000 4,600,000[4 /N7 2 I EES = YNk
30 [EHLIKVEEgRR| R1.11.27 (AR E REFE3EERE FHiKSUE TE 4,520,000 3,500,000 #H7 4= 4 FRA0 T AAL
31 VIS R1.11.27 | ADNESfth 2578 7 T T4 N 4 FaA0 A AAL
32 | fEEEREALER | R1.11.27 | EERHAEEE LT 1,216,000 1,050,000 | ESR 1 MY —28F 58T | 4 FaA0 T AAL
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35 VISEE: S R1.12.26 | LB ANESINEAR 7 58 T A~ 4 FEA0 i AL
36 AKE AR R1.12.26 [Kiifd k4555 3l Kt kR 7 7 Lo 3,410,000 2,700,000|#¥~h #HEIE 4 | HRAHA AL
37 |EHOKVEARR| R2.2.4 | RJRFAHPNETIE K FHE IR LHF 2,061,000 1,900,000 | ()R 5 Bl 3 5 FaA0 i AL
38 |EL VISR R2.2.4 | as AR O HRSER HIN T 1694 54 4 H T 1,640,000 1,600,000 | ()5t FH &t 3% 5 fada i g AL
39 |ELOKVEESIE R2.2.4  |BILFARMIARTE2-17 58 E 1 F TH ~ i 5 feami e AL
40 |FEHOEf R R2.2.4  |[BILFHRAHIPNETIE SEME IR THF N 5 | fRamA AL
41 |E5 3R R2.2.4  [B7E PRI ST T E 1,462,000 1,200,000 [ 4 78 T A 5 | fRAEF AL
42 | PEZEBDGHE R2.2.4 |BEHAK B Z— s BEaRERE T 2,290,000 2,000,000|/fR¥~h FEIE 1 feami e AL
43 | TH R | R2.2.4  [BUERNNLEARERGEREER L 31,800,000 26,550,000 | (R HTFE £ 7 — R —E A 3| HEAEA AL
44 |EFH3K0EEE R2.3.2 | EATFTHRMANEFGERE THF 3,540,000 3,000,000 | (R RASHE 3 FEA Tt AL
45 |FHL 3R] R2.3.2  [HLSBAHIPNNTIE 3-1846 5K H 18 1H T3 A~ 2 FEA Tt AL
46 | FEHOEME  R2.3.2 [ BILFARHIPETIE R E 1 1H TF N 2 | FEABA AL
47 |EH 30| R2.3.18 | KiMiGIERmEME T 5 41,335,000 41,200,000|{+ 72 / A(#H (N EES = YN




